B2 Pohmh dwutw&ninh Ynnuhg juquultpygus ypulnhuyh quubhunmdiub wpnyyniupubpp

/2014-15 niuwnwpp/

Uutjujupdujut ypulnhfuiht duubtuljgus niuwunnubph phyu pun

dwutmghwunipniubph
NMuunigdut dip Cunpudtup 4yUd PARS Uz
wnlu 44 11 24 9
1. Pujupujuénipmiip ypuyuwhlugh juqiuitpydwt gnpépiipwghg /2015p./
Phy Zupgh pojwimulijwpenieniin Uhg.qi. | WUD | 21S | UZ
1 | Dnpwtn Y 2bq pujupuiptg wpwlnhluih juquulpuydut 4,66 491 | 479 | 400
qnpopipwgn
2 Nppwin®y 2kq pujupupkg ypulnhugh wigiugdui Jugpp 4,73 473 | 4,88 | 4,33
3 Nppwin 4 E tyuunujuhupdwp ypulnhljugh wighugdwt 3,89 473 3.96 | 2.67
dudutwjuhwndudp
4 Nppwiin’y k 2kq pujwpupnid ypuluhlugh nbnngniemoip 3,43 4,09 3,67 | 2,00
5 Nppwiny E wpulnhugh spughpt hpulwbwgynid 4,25 473 | 442 | 3,22
6 Nppwin J Qkq pudupupkg pugniung juquuybpynipjut 4,61 473 | 483 | 3.89
wowljgnipiip wpuhnhluyh pupugpmd
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Pujupun]wénipiniiip ypwlnhljugh juquulbkpudwh gnpsplipughg /2015p./
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0.00 Yuquulkpuniput wgwlgnipntip wpwlnhluh
Uhg.qh. qUd JARS? Uz plpwgpnud
Puupunfusnipintin ypwlnhugh juqiwltpupdub gnpéplipwghg
/dhg.qu, 2015p./
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B Nppwitin’y 2bq pujupuptg wpwluhugh wiglugdwb
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4,66
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Juquultpyuwi gnpspupugp /2015p./

4.7

4.7

4.65

4.6 -

gnpdwniubp  niuwbnnubp

2. Pujupuusmpiniup ypunhuyh nijwujupitphg /2015p./

P

Zwuingh pnyjubmuljupnieiniin Uhg.qu.

YUd

PARS:

Uz

11

Quwhwwnkp wpulnhluyh nkjuduph wouwnwpttpp 4,91

5,00

4,88

4,89
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Guuwhwintp wpwlwhluyh Juyph Ynnihg tpwbul]ws 475
nEjujuph wphunnubipitpp ’

4,82

4,83

4,44

13

Nppw’t kp ypulunhlugh nEjwdwpp quinwhnid 2bq 4,89
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4,88

4,78

Pujupujwdnipniup ypwlnhuyh nEjwduwpitphg /2015p./
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Uhg.gu. YU PARSS Uz
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Puupunfusnipiniin ypwlpnhuyh nkjunfupibphg
/2015p./
M Quwhwwntp ypulnhluyh
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nilju]uph wphunwiiptitpp
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nEjuwdupp Junwhnud Qg




3. Pujupupjubsnipmiip ntumdunn pjut pupugpnid unnugwms ghntijhputphg b jnipugpus

Ukpnnutphg /2015p./
Phy Zupgh pnjwimuljupnieiniip Uhg.qu. | WUD | 212 | UZ
7 Npputn 4 bp mbuwmljut ghnbjhpubpp paupuptght mnhy 4,64 473 | 471 | 433
ypuljuhlurh pipwgpnud
9 Nppwtn 4 Ep ntundtwnnipjub pipugpnid mpugpus dkpnnubpp 4,61 473 | 467 | 433
tyuwunnmd ypuunhlugh wughugdup
Mpuljunhjubn-muwinyitph pujupupjusnipniip niunidbwpn pjut
pupwgpmuy unugud ghnkjhputphgl jnipugpus Ukpnnikphg/2015p./
4.80 473 473 471 . [} ﬂppmhnOQpr nbuwlub
ghubihptitpp pujupuiptghl
4.60 wlunhy wpwlnhugh
nupwugpnid
4.40
B Nppwlin ] kp

4.20

4.00 - T T T

niunidwnnipjui
nupwugpnud jnipugpud
dbpnnubpp tyywuwnnd
Uhg.qu. 4YUd 221G Uz wpwlinhiugh wighugdwin

4. Mpunhljuwin ntuwinnubph pujupupjusnipniip ntumdbupm pjut pipugpnid jppugpusd

Ukpnnutnhg b ypuwlwhlughg dnp phpws Ukpnnutphg /2015p./

Phy Zupgh pnjwimuljupnieiniip Uhg.qu. | WUD | 212 | UZ

9 Nppwtn 4 kp nuunmduwnnipjub pipugpnid mpugpus dkpnnubpp 4,61 473 | 467 | 433
tyuwunnd ypunhlugh wughugdup

10 ﬂppuﬂmoq wypuwlnhjut tyuunkg inp dkpnnubph mupugdwip 4,39 4,73 | 4,38 | 4,00

pupwugpmujnipugnus dkpnnukphg b ypwywnhluyhgdkop pipus
Ukpnnukphg /2015p./

Uhg.qu. UWUd 219 Uz

Mpuljunhjubnntuwingibph paudupupjusmpiniap niunidtwpn pjui

B Nppwiin &

>00 .61 4.73 4.73 4.67 nglpmdhuinrip]mh npupwugpnid
nipugpwd Ukpnnubpp

450 yuwunnud wpulnhlugh
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4.00 B Nppwiin ] ypwlunhub
ywuwntgunp dkpnnubph

3.50 . . . . Jjmpugdwbp




5. Mpujnhljuwiin niuwinniubph pujupupjusnipniip ntumdunmipyut pupugpnid dknp phipws
huwnnipyniuitiphg b jupnnmpniuitphg /2015g./

Phy Zupgh pnjwimwljupnipeiniip Uhg.qu. | WUD | 212 | UZ
ﬂppulhnoq wypulunhjut tyuunkg duubughnwlju
8 Jupnynipgniubph b hdnnmipgniatibph gpubinpduip 4,52 455 | 4,67 | 4,11
Qtuwhwwnbp ypulnhlugh pipugnid unp hdnnipniuubph b
14 Jupnynipgnibbph dknp phipdwt Qkp pwtipkpp 470 482 | 483 | 4,22
Mpuljunhjubnntuwingibph padupupjusmpiniap niunidtwpn pjui
pupwgpmu dknp phpws hdnnipymutbphgh jupnympnibubphg/2015p./
5.00 B Nppwitin’] wpuwlwnhlui
4.80 yuwuntg Uuubughnwljuh
4.60 Jupnnnipjniutbph
’ hdwnnmipyniuutph
4.40 npubinpdwip
4.20
4.00 B Quwhwnbp ypuluhlugh
3.80 nupwugnud unp
) hdunnmpniutbph
3.60 4 Jupnnnipinibubph dinp
Uhg.gu. YUD PARSY Uz pipuwt Qb gwlipkpp
Phy Zupgh pojwimulwpenieniup Uho.qu. | UWUD pARS (14
Nppwiln] wpnuipugkght 2bp
15 4,25 4,55 4,46 3,33
wyujuihplikipp wpwinhljughg

Oppwiny] wpnwpwgdkght 2kp
wluyuhpitpp ywpuwlnhluyhg/2015w./

Uz, 3.33

2GS — 4.46

YUd — 4.55
Uhg.ql. - 4.25

= T T 1

0.00 2.00 4.00 6.00




